Intersection: Los Robles Ave at El1 Camino Real, Palo Alto, California
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gov.usdot.asnl.generated.j2735.dsrc.Messageframe
value MessageFrame ::= ({
messageld 18,
value MapData : {
msglssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1013
by
revision O,
refPoint {
lat 374157242,
long -1221281354,
elevation 120
by
lanewWidth 330,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
by
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 793,
y 1948
}
by



{
delta node-XY3 : {
x 912,
y 562
}
by
{

delta node-XY3 : {
x 1056,
y 301
}
by
{

delta node-XY3 : {
x 1154,
y —265
}
by
{

delta node-XY2 : {
x 352,
y —-699
}
}
I
connectsTo {
{
connectingLane {
lane 19,
maneuver {maneuverRightAllowed}
b
signalGroup 4

}
by
{
lanelID 2,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1107,
y 1623
}
by
{

delta node-XY2 : {
x 821,
y 458
}
by
{

delta node-XY2 : {
x 969,
y 231
}
by
{

delta node-XY3 : {
x 1370,
y —465
}
by



delta node-XY3 : {
x 806,
y —=1037
}
by
{

delta node-XY3 : {
x 524,
y -1878
}
by
{

delta node-XY3 : {
x 631,
y —-1252
}
by
{

delta node-XY3 : {
x 912,
y —-849
}
by
{

delta node-XY5 : {
x 3902,
y —-2576
}
by
{

delta node-XY6 : {
x 8869,
y —-5869
}
}
b
connectsTo {
{
connectingLane {
lane 1,
maneuver {maneuverStraightAllowed}
}
by
{

connectingLane {
lane 3,
maneuver {maneuverStraightAllowed}
}
by
{

connectingLane {
lane 14,
maneuver {maneuverStraightAllowed}
by
signalGroup 4
}
}
by
{
lanelID 3,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodelList nodes : {



{
delta node-XY3 : {
x 1402,
y 1342
}
by
{

delta node-XY2 : {
x 654,
y 419
}
by
{

delta node-XY2 : {
x 893,
y 170
}
by
{
delta node-XY3 : {
x 1245,
y —495
}
by
{

delta node-XY3 : {
x 6460,
y —-1042
}
by
{

delta node-XY3 : {
x 530,
y —-1802
}
by
{

delta node-XY3 : {
x 852,
y —-912
}
}
by
connectsTo {
{
connectingLane {
lane 11,
maneuver {maneuverLeftAllowed}
by
signalGroup 7

}
by
{
lanelD 4,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 1894,
y 795
}
by



{

delta node-XY2

x 838,
y 73
}
}y
{

delta node-XY2

x 602,
y —254
}
by
{

delta node-XY3

x 634,
y —-812
}
by
{

delta node-XY3

x 600,
y -1024
}
by
{

delta node-XY3

x 889,
y —-1002
}
}y
{

delta node-XY3

x 1102,
y —-922
}
}y
{

delta node-XY3

x 1431,
y -999
}
b
{

delta node-XY4

x 2961,
y —-1930
}
by
{

delta node-XY6

x 8812,
y —-5780

lanelID 5,

ingressApproach 3,

laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle

s

maneuvers {maneuverStraightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes

{

delta node-XY3

{

{}

{

maneuverRightAllowed,



x 1808,
y —-128
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dwidth 30
}
by
{

delta node-XY4 : {
x 1775,
y —-1546
}
by
{

delta node-XY4 : {
x 1466,
y —1452
}
by
{

delta node-XY4 : {
x 2114,
y —-2125
}
by
{

delta node-XY4 : {
x 1850,
y —-1989
}
by
{

delta node-XY4 : {
x 1804,
y -2026
}
by
{

delta node-XY4 : {
x 1957,
y —-2391
}
}
I
connectsTo {
{
connectingLane {
lane 4,
maneuver {maneuverRightAllowed}
b
signalGroup 6
b
{

connectingLane {
lane 19,
maneuver {maneuverStraightAllowed}

by
signalGroup 6

}

s



laneID o,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1570,
y —364
}
by
{

delta node-XY4 : {
x 1635,
y —-1533
}
by
{

delta node-XY4 : {
x 1551,
y —-1405
}
by
{

delta node-XY4 : {
x 2103,
y —-2135
}
by
{

delta node-XY4 : {
x 1821,
y —-1950
}
by
{

delta node-XY4 : {
x 1786,
y —2006
}
by
{

delta node-XY4 : {
x 1982,
y —2420
}
}
b
connectsTo {
{
connectingLane {
lane 20,
maneuver {maneuverStraightAllowed}
by
signalGroup 6

}

by

{
lanelID 7,
ingressApproach 3,
laneAttributes {

directionalUse {ingressPath},
sharedWith {},



laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1338,
y —-605
}
by
{

delta node-XY4 : {
x 1526,
y —-1462
}
by
{

delta node-XY4 : {
x 1576,
y —-1509
}
by
{

delta node-XY4 : {
x 2096,
y —2050
}
by
{

delta node-XY4 : {
x 1877,
y —1942
}
by
{

delta node-XY4 : {
x 1776,
y —2048
}
by
{

delta node-XY4 : {
x 1965,
y —2426
}
}
by
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}
by
signalGroup 6
by
{

connectingLane {
lane 8,
maneuver {maneuverStraightAllowed}

}

}

by

{
lanelID 8,
ingressApproach 3,
laneAttributes {

directionalUse {ingressPath},
sharedWith {},



laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed,
nodelList nodes : {
{
delta node-XY3 : {
x 1083,
y —843
by
attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x 1501,
y -1469
}
by
{

delta node-XY4 : {
x 1665,
y —-1486
}
by
{

delta node-XY4 : {
x 2031,
y —2043
}
by
{

delta node-XY4 : {
x 1417,
y —-1540
}
by
{

delta node-XY2 : {
x 716,
y —-187
}
}
by
connectsTo {
{
connectingLane {
lane 11,

maneuverUTurnAllowed},

maneuver {maneuverUTurnAllowed}

bo
signalGroup 1

}y
{

connectingLane {
lane 14,

maneuver {maneuverLeftAllowed}

b
signalGroup 1

}

laneID 9,

egressApproach 4,

laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}

b



maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 160,
y -1736
by
attributes {
dwidth 30
}
by
{

delta node-XY4 : {
x 1645,
y —-1413
}
by
{

delta node-XY3 : {
x 1313,
y -1260
}
by
{

delta node-XY3 : {
x 1341,
y —1377
}
by
{

delta node-XY4 : {
x 1799,
y —-1833
}
by
{

delta node-XY4 : {
x 1631,
y —-1794
}
by
{

delta node-XY3 : {
x 1272,
y —1414
}
by
{

delta node-XY4 : {
x 1767,
y —2148
}
}
b
connectsTo {
{
connectinglane {
lane 14,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1014

}
}y
{

lanelID 10,



egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 419,
y —-1438
}
by
{

delta node-XY4 : {
x 1643,
y —-1493
}
by
{

delta node-XY3 : {
x 1308,
y —-1272
}
by
{

delta node-XY3 : {
x 1395,
y —-1367
}
by
{

delta node-XY4 : {
x 1790,
y —-1824
}
by
{

delta node-XY4 : {
x 1573,
y —-1791
}
by
{

delta node-XY3 : {
x 1313,
y —-1451
}
by
{

delta node-XY4 : {
x 1767,
y —2145
}
}
b
connectsTo {
{
connectinglane {
lane 15,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1014



laneID 11,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 685,
y —1222
}
by
{

delta node-XY4 : {
x 1629,
y —-1535
}
by
{

delta node-XY3 : {
x 1323,
y —-1222
}
by
{

delta node-XY3 : {
x 1445,
y —-1403
}
by
{

delta node-XY4 : {
x 1732,
y —-1807
}
by
{

delta node-XY4 : {
x 1572,
y -1760
}
by
{

delta node-XY3 : {
x 1355,
y -1499
}
by
{

delta node-XY4 : {
x 1730,
y —2134
}
}
b
connectsTo {
{
connectinglane {
lane 16,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1014



laneID 12,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1106,
y —1677
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559
}
}
by
dwidth -30
}
by
{

delta node-XY4 : {
x =-1753,
y —2425
}
by
{

delta node-XY4 : {
x -1188,
y —=1774
}
by
{

delta node-XY4 : {
x -1335,
y —-1783
}
by
{

delta node-XY6 : {
x -5051,
y —-7478
}
}
b
connectsTo {
{
connectingLane {
lane 4,
maneuver {maneuverStraightAllowed}
by
signalGroup 8
by
{

connectingLane {
lane 13,
maneuver {maneuverStraightAllowed}



}
}y
{

connectingLane {
lane 9,
maneuver {maneuverRightAllowed}
b
signalGroup 8
}

lanelID 13,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x —1489,
y -1501
}
by
{

delta node-XY4 : {
x -1578,
y —2425
}
by
{

delta node-XY4 : {
x =980,
y —-1950
}
}
by
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverLeftAllowed}
by
signalGroup 3
}
}
by
{
laneID 14,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed, maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1660,
y —-1322
by
attributes {
dWwidth 30
}
by



delta node-XY4 : {
x -1221,
y —1824
}
by
{

delta node-XY4 : {
x —-1598,
y —-2519
}
by
{

delta node-XY4 : {
x -1174,
y —1794
}
by
{

delta node-XY6 : {

x —-4914,
y —-7523
}
}
}
by
{
lanelID 15,

ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1976,
y 79
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782

delta node-XY3 : {
x —-1534,
y 1285
}
by
{

delta node-XY4 : {
x —-2007,
y 1526
}
by
{

delta node-XY4 : {
x =1900,
y 1379



}
}y
{

delta node-XY4 : {
x -2051,
y 1395
}
by
{

delta node-XY5 : {
x —-4193,
y 2694
}
}
b
connectsTo {
{
connectingLane {
lane 9,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
by
{

connectingLane {

lane 14,

maneuver {maneuverRightAllowed}
b
signalGroup 2

}

lanelID 1o,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1732,
y 311
}
by
{

delta node-XY4 : {
x -1631,
y 1322
}
by
{

delta node-XY4 : {
x -1970,
y 1528
}
by
{

delta node-XY4 : {
x -1889,
y 1414
}
by
{

delta node-XY4 : {
x —-2053,



y 1405
}
}y
{

delta node-XY5 : {
x —-4051,
y 2659
}
}
b
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
by
{
laneID 17,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1504,
y 533
}
by
{

delta node-XY4 : {
x -1666,
y 1400
}
by
{

delta node-XY4 : {
x =-1992,
y 1532
}
by
{

delta node-XY4 : {
x =-1920,
y 1395
}
by
{

delta node-XY4 : {
x -2018,
y 1421
}
by
{

delta node-XY4 : {
x -2931,
y 1946
}
by
{

delta node-XY3 : {
x —-1045,



y 656

}
I
connectsTo {
{
connectingLane {
lane 11,
maneuver {maneuverStraightAllowed}
b
signalGroup 2
b
{

connectingLane {
lane 18,
maneuver {maneuverStraightAllowed}

lanelID 18,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1192,
y 829
by
attributes {
dwidth -30
}
by
{

delta node-XY4 : {
x -1805,
y 1458
}
by
{

delta node-XY4 : {
x -1966,
y 1491
}
by
{

delta node-XY4 : {
x -1936,
y 1404
}
by
{

delta node-XY4 : {
x -2026,
y 1376
}
by
{

delta node-XY4 : {
x -2511,
y 1622
}
by



delta node-XY2 : {
x —-595,
y 47
}
}
by
connectsTo {
{
connectingLane {
lane 4,
maneuver {maneuverLeftAllowed}
by
signalGroup 5
by
{

connectingLane {
lane 21,
maneuver {maneuverUTurnAllowed}
by
signalGroup 5
}

laneID 19,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =312,
y 1696
by
attributes {
dwidth 30
}
by
{

delta node-XY4 : {
x —-2049,
y 1652
}
by
{

delta node-XY4 : {
x -1988,
y 1480
}
by
{

delta node-XY4 : {
x —-1924,
y 1395
}
by
{

delta node-XY4 : {
x =-2193,
y 1521
}
}
by
connectsTo {



connectinglLane {

lane 3,

maneuver {maneuverStraightAllowed}
b
remoteIntersection {

region O,

id 1012

laneID 20,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -559,
y 1457
}
by
{

delta node-XY4 : {
x -1975,
y 1576
}
by
{

delta node-XY4 : {
x -1932,
y 1450
}
by
{

delta node-XY4 : {
x -1980,
y 1435
}
by
{

delta node-XY4 : {
x —-2139,
y 1481
}
}
b
connectsTo {
{
connectinglLane {
lane 4,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1012

}

by

{
laneID 21,
egressApproach 8,



laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =795,
y 1189
}
by
{

delta node-XY4 : {
x -1928,
y 1576
}
by
{

delta node-XY4 : {
x -1894,
y 1395
}
by
{

delta node-XY4 : {
x -195¢0,
y 1449
}
by
{

delta node-XY4 : {
x -2146,
y 1430
}
}
b
connectsTo {
{
connectinglane {
lane 5,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region O,
id 1012

}
by
{
lanelID 22,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x 415,
y 2211
by
attributes {
dWwidth -30
}



delta node-XY3 : {
x 1047,
y -1189
}
by
{

delta node-XY2 : {
x 677,
y =727
}
}
I
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverRightAllowed}
b
signalGroup 14
b
{

connectingLane {
lane 25,
maneuver {maneuverLeftAllowed}
by
signalGroup 14
}
}
by
{
lanelID 23,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
by
nodelList nodes : {
{
delta node-XY4 : {
x 2139,
y 295
}
by
{

delta node-XY3 : {
x -1369,
y -1232
}
by
{

delta node-XY3 : {
x -1052,
y —-1073
}
}
by
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverLeftAllowed}
by
signalGroup 16
by
{

connectingLane {

lane 24,

maneuver {maneuverRightAllowed}
b



signalGroup 16
}
}
by
{
lanelID 24,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x —-695,
y =1970
}
by
{

delta node-XY4 : {
x =1793,
y 1297
}
}
by
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverLeftAllowed}
by
signalGroup 10
I
{

connectingLane {

lane 25,

maneuver {maneuverRightAllowed}
b
signalGroup 10

}
by
{
laneID 25,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
x —-2488,
y —673
}
by
{

delta node-XY4 : {
x 1544,
y 1581
}
by
{

delta node-XY3 : {
x 1359,
y 1303

}

by



connectsTo {

{

connectingLane {

lane 22,

maneuver {maneuverRightAllowed}

b
signalGroup 12

}y
{

connectingLane {

lane 24,

maneuver {maneuverLeftAllowed}

b
signalGroup 12

}

Y,

{
lanelID 26,
laneAttributes {

directionalUse {ingressPath,

sharedWith {},

laneType crosswalk

by
nodeList nodes : {
{
delta node-XY6
x 11615,
y —-5402
}
by
{

delta node-XY3
x =737,
y -1122

egressPath},



